CPSG101l Carbon Footprint Infographic

\

¢ present-day emissions \ . hypothetical adult emissions

tvavel: 5.7%

tvansPovtation: 0

x* total: 14%.%

hWowsewoldt 44.75

tvavel: 43
howsewold: b1

‘ total: 200
transfortation: 2

There are significant differences between my present day emission and my hypothetical adul

t emissions, One difference is that of my transportation emissions. As an adult I would proba

bly drive an electric car, so there would be no emissions. However, the household emissions i

ncreased because I would want to live in a single home, so there would be more emissions th

an if I lived in a dorm. I would also want to travel more, but as I would probably travel as a
group with my family, the travel emissions would be decreased.



